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Candidates are rexluired to give their answers in their own wrrrds as far as practicable.
Question Paper is divided into Three parts _A, B & C
Part-A is compulsory.

Part' B contains Six qtrestions out of which l'our questions are to be answered.
Part- C contains Four questions out of which Three questions are [o be ansrvered.

PART A
Q.1) AII questions are compulsory (10x2=20Marks)

1) Write Picard's general formula.

2) Define Rounding error.

3) Define significant figure,

4) Write Newton Forward interpolation Formuia.

5) Write Taylor's series fonnula.

6) Errors may occur in perfomrirg nu.".i.al computation on the computer due to.
7) Rounding errors b) power fluctuation c) operator fatigue d) AII of these

8) In Regula-falsi merhod" the tirst apprcximation is given by

a)rn = 
af(a)-bf(a)
f (b)-f(a)

9) which of the following alrer narne of method of false position?

a) Method of ctrords b) Methods of tangents c) Method of bisection d) Reguia faisi method
10) The number of significanr digirs in rhe number 7040205sa

a)5 b)6 c)8 d)9

1 l) Which relation is Correct?

12)a)E=1+A b) E=1-A, c)E=1+V d)E=1*V
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PARI B

Answer any four:

Q 2) Evaluate VTE by Newton Raphson rnerhod.

(4x5=20)

Q 3) Given logrs654 : 2.8L56, Iogro6SB : 7.8L82, Iogro6Sg = Z.B\89, togn66L : Z.BZ0Z,

Find logN656.

Q 4) Find the first order derivative of the {'unction tabulated below, at the point x=1.5

Q 5) Find the real root of the equation xlogysx - 1,,2 = 0 by false position method.

Q 6) What is the difference betwee, (*)' u, and (*)if u : .tr3, rhe inrervat of difference being h.

Q 7) Use Rungee-Kuua method to firrd .v-(0.1) given *at ff = *, y(0)=1.

PART C

Answer any three: (3x10=30)

Q 8) UsingTaylor's method, solve j| = 1 + ry witir y(0) = 2. Find y(0.1), y(0.2), y(0.3)

Q 9) Apply Gauss-Jordon method to solve the equations

2x+y+42 =12

8x-3y +22 =20

4x+l7y-z =33

Q l0) Solve the equations, by factorizatiolt merhod.

3x +2y +72 = Q

2x+3y +z * 5

3x+4y+z =$,

Ql1) Evalu ate I = C'' bg" x dx by (a) Simpson's l/3 rule (b) Sirnpson's 3/8 rule (c) Trapezoidal rule
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x 1.5 2.A 2.5 3.0 3.5 4.0

f (x) 3.375 7.000 L3.625 24.00a 38.875 59.000


